FR2OFEBRRVFILL(BF)

SRR

A 3 - 5 EH | B[ IE 5 - 5 c 6 - 1 D 7 -0
4 - 4 _HC NUR 6 - 4 &R 4 - 3 0 - 1
5 - 6 Ri— R—IL 9 - 5 J7)La 2 - 5 #E 3 - 1 JHC
BEHC | 12 - 15 x 937 | 20 - 14 P =dHC | 12 - 9 |Yaz=7 JNEaHe | 20 - 2 |LLIEL
E[ MNEF 6 - 1 EH | F[ IR 5 - 6 waw | G[ TEF 3 - 5 H 5 - 3 W
NUR 9 - 3 HC NUR 5 - 5 S A 4 - 1 5 - 2 AUFR—L
A= 4 - 4 Ri— R—IL 5 - 5 R—IL 7 - 3 1 - 3 A=Y
957 | 19 - 8 957 | 15 - 16 957 | 1a - 9 | =$mHc jiEHe | 11 - g | »%E
RESE
1 [ MEF 7 - 3
NUR 6 - 7
R—IL 2 - 4
937 | 15 - 14 | JIIAHC
S = X
TR290FERRVELZ(XF) FHHER
@ 7 - 2 Q[ #=m 2 - 3 ® 1 -5 @ 1 - 8
2 - 5 UK 5 - 2 £@HC || Ew 1 - 6 R 1T - 6 )
EINEES 4 - 2 R— 6 - 2 Ron—| |5 s 4 - 6 1= 6 - 2 "5
HHC 13 - 9 | #HAHC 957 13 - 7 X i 6 - 17 AJr. HCiIl | 8 - 16 | 2a=7
GEVSES 3 - 3 ® = 2 - 5 QRAEXR 3 - 3 ® 2 - 4
NUR 3 - 4 UK 3 - 6 NUR 4 - 4 133 2 - 1
K- 9 - 2 SME R 1 - 3 R 2 - 0 =Y BE 5 - 5
957 | 15 - 9 | THC 937 | 6 - 14 | =4HC 957 9 - 7 RJr. Paz7| 9 - 10 | =HC
RESER
©) BR 2 - 6
NUR 5 - 5
A= 6 - 3
937 | 13 - 14 | =$HC
B F3 D =3 =
TR2OEEHBEEN (BR) FHHMiER
& 1 -6 L 5 - 6 P) 2 - 5 Z 6 - 6
3 - 3 4 - 8 B IERNY 3 - 2 B () “EHHC
4 - 1 B5 JHC 8 - 6 703 RAR—IL 4 - 3 BHE I7)a 8 - 5 Rosi—
ZHHC| 8 - 10 | 2a=7 LLIFL | 17 - 20 > 957 9 - 10 |$az=7 v 25 - 14 X
ES) 3 - 6
4 - 5 BES
BE 5 - 5 7L
Caz7| 12 - 16 >
4 2 - 3 i =] 5 - 5 5 - 3 = 7 - 4
3 - 2 - 7 - 4 £ HEHGC 7 -3 5 - 3
6 - 5 R g 5 - 3 Rsi— 4 - 5 7 - 8 SL=FE
HEAHC | 11 - 10 & HCmiIl | 17 - 12 16 - 11| #FAHC HCTIL | 19 - 15 | THC
AR[ R 4 - 6
NUR 1 -5
R—JL 4 - 7
937 9 - 18 | Hemlll




